ACCA PM
SRR RHR RN D =

15 ¥E A
WEEIR (PM) R HIM

© ACCA Public



PERAT

=T kiLh IS,

March/June 2018 Q31 PGC
March/June 2016 Section B Q4 Man Co
June 2015 Section B Q2

RIS

el A

ACCA| Think Ahead © ACCA Public




1. B IEBLCS (Section C)

@B — Calculate the total annual profits of each division and the group as a whole
(1 E&: March/June 2018 Q31 (a); March/June 2016 Section B Q4 (b)
2@ B S3IitE Hselling division, buying division 1 groupBdF!3iE
3 BHER:
v BT

v SEHF A Btransfer priceBIRbIE
v B sales and costs figures should be split into external sales and inter-divisional transfers;
XARXFIMNINHE; SNAXTINIEE (RRAFHE, BRKE, BER) ; WHAXIMIEAE (cost

savings)
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1. B IEBLCS (Section C)

@5 — Calculate the incremental profit/(loss) for the group if buying division accepts the new
supplier’s offer

(1 B/ March/June 2016 Section B Q4 (a)
2@ BB

v’ Cost of making vs cost of buying

® ERHEIR:
v' Cost of makingd R E & REREHZ ] UL

v' Fixed cost of selling division
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1. B IEBLCS (Section C)

@15 = Calculate the number of goods which buying division should buy from selling division OR
selling division should supply to buying division in order to maximize group profits

(1) EF: March/June 2018 Q31 (b); March/June 2016 Section B Q4 (a); June 2015 Section B Q2
@ BE:

v Lost contribution from external sales

v/ Saved cost (cost of making vs cost of buying)
v/ Saved cost > Lost contribution = profit, selling division S {145t # & N ZB T3
v Saved cost < Lost contribution = loss, selling divisionRZ{/t 5 /e M EBEES

® ERE#: BhEENEANAERBZNE, UM ENSRESANENERANFE, HIFLTE
RNEINAE,
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1. B IEBLCS (Section C)

Y Calculate and discuss the maximum / minimum / suitable transfer price

(1D EF: March/June 2018 Q31 (c); June 2015 Section B Q2; June 2014 Q3 (b)
@ BE:

v" Maximum: Market price - Cost savings

v" Minimum:
B Spare capacity: minimum transfer price = marginal cost
B No spare capacity: minimum transfer price = marginal cost + opportunity cost
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1. B IEBLCS (Section C)

Y Calculate and discuss the maximum / minimum / suitable transfer price

v' Suitable transfer price, X#M#E—fRFILE=TAERIEZE, Bl
M Buying division: —f& @ Z113€buying divisionBE3&3 Fimaximum transfer price
B Selling division: —f% & & 1918selling division8E#& = BIminimum transfer price
B What is best for the company as a whole

=

@ ':J%"Jrll_.falf
v BB
v

THERIRE, BHiZsAHmaximum / minimum transfer priceBy45
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2. March/June 2018 Q31 PGC

The Portable Garage Co (PGC) is a company specializing in the manufacture and sale of a range of
products for motorists. It is split into two divisions: the battery division (Division B) and the adaptor
division (Division A). Division B sells one product — portable battery chargers for motorists which can
be attached to a car’s own battery and used to start up the engine when the car’s own battery fails.
Division A sells adaptors which are used by customers to charge mobile devices and laptops by
attaching them to the car’s internal power source.

Recently, Division B has upgraded its portable battery so it can also be used to rapidly charge mobile
devices and laptops. The mobile device or laptop must be attached to the battery using a special
adaptor which is supplied to the customer with the battery. Division B currently buys the adaptors from
Division A, which also sells them externally to other companies.
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2. March/June 2018 Q31 PGC

The following data is available for both divisions:

Division B
Selling price for each portable battery, including adaptor $180
Costs per battery:
Adaptor from Division A $13
Other materials from external suppliers $45
Labour costs $35
Annual fixed overheads $5,460,000
Annual production and sales of portable batteries (units) 150,000
Maximum annual market demand for portable batteries (units) 180,000
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2. March/June 2018 Q31 PGC

Division A
Selling price per adaptor to Division B $13
Selling price per adaptor to external customers $15
Costs per adaptor:
Materials $3
Labour costs $4
Annual fixed overheads $2,200,000
Current annual production capacity and sales of adaptors — both internal and
external sales (units) 350,000
Maximum annual external demand for adaptors (units) 200,000

In addition to the materials and labour costs above, Division A incurs a variable cost of $1 per adaptor
for all adaptors it sells externally.
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2. March/June 2018 Q31 PGC

Currently, Head Office’s purchasing policy only allows Division B to purchase the adaptors from
Division A but Division A has refused to sell Division B any more than the current level of adaptors it
supplies to it.

The manager of Division B is unhappy. He has a special industry contact who he could buy the
adaptors from at exactly the same price charged by Division A if he were given the autonomy to
purchase from outside the group.

After discussions with both of the divisional managers and to ensure that the managers are not
demotivated, Head Office has now agreed to change the purchasing policy to allow Division B to buy
externally, provided that it optimises the profits of the group as a whole.
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2. March/June 2018 Q31 PGC

Required:

(a) Under the current transfer pricing system, prepare a profit statement showing the profit for each of
the divisions and for The Portable Garage Co (PGC) as a whole. Your sales and costs figures should
be split into external sales and inter-divisional transfers, where appropriate. (9 marks)

ACCA| Think Ahead © ACCA Public



2. March/June 2018 Q31 PGC

(a)

@ FMEEK:

v’ profit statement

v' each of the divisions and for The Portable Garage Co (PGC) as a whole
v' split into external sales and inter-divisional transfers

@ BB 95itE Bselling division, buying division 1 group#9%)iE (Revenue-VC=Contribution-
FC=Profit)

@ BIIEIR:
v R
v HM
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2. March/June 2018 Q31 PGC

Solution:

(a) Profit statement for current position:

Division B Division A PGC Co
$'000 $'000 $'000

Sales revenue:
External sales (150,000 x $180/200,000 x $15) 27,000 3,000 30,000
Internal transferred sales (150,000 x $13) 1,950
Total revenue 27,000 4 950 30,000
Variable costs:
External material costs 6,750 1,050 7,800
Internal transferred costs 1,950
Labour costs 5,250 1,400 6,650
Other costs of external sales 200 200
Total variable costs 13,950 2,650 14,650
Contribution 13,050 2,300 15,350
Less fixed costs 5,460 2,200 7,660
Profit 7,590 100 7,690
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2. March/June 2018 Q31 PGC

Required:

(b) Assuming that the new group purchasing policy will ensure the optimization of group profits,
calculate and discuss the number of adaptors which Division B should buy from Division A and the
number of adaptors which Division A should sell to external customers.

Note: There are 3 marks available for calculations and 3 marks for discussion. (6 marks)
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2. March/June 2018 Q31 PGC

(b)

@ MEZEK:

v" optimization of group profits

v the number of adaptors...

@ R

v' Total capacity of selling division: 350,000

v Total demand: (external200,000+internal 180,000)=380,000
v" Shortfall: 300,000
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2. March/June 2018 Q31 PGC

(b)
@ fREAERR
v" Lost contribution from external sales: $7 ($15 — $3 — $4 — $1).

v' Saved cost (cost of making vs cost of buying) : $6 ($13 external cost less the $7 cost of making
them in-house).

v/ Saved cost < Lost contribution = loss, selling divisionRZ {55t #% B SN E K

v" BP: Division A continues to sell Division B 150,000 adaptors but Division B then buys the
remaining 30,000 adaptors from an external supplier

@ BHHER. BUEETMEENAEXREZ R, UMEENEESAUENERANFIE, HIFkE
RNEBIINAE,
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2. March/June 2018 Q31 PGC

Solution

(b) If Division B can buy adaptors from outside the group at $13 per unit, then the optimum position is
for Division A to sell as many adaptors as possible to external customers at $15 each and then sell
the remainder to Division B at a price to be agreed between them.

This would mean that Division A continues to sell Division B 150,000 adaptors but Division B then
buys the remaining 30,000 adaptors from an external supplier. This is because the contribution per
unit for Division A's external sales is $7 ($15 — $3 — $4 — $1). This means that for every external sale it
loses, it forfeits $7 for the group. However, the incremental cost for the group of Division B buying
adaptors from outside the group is only $6 ($13 external cost less the $7 cost of making them in-
house). So, it makes sense for Division A to satisfy its external sales first before selling internally.
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2. March/June 2018 Q31 PGC

Required:
Assume now that no external supplier exists for the adaptors which Division B uses.

(c) Calculate and discuss what the minimum transfer price per unit would be for any additional
adaptors supplied above the current level by Division A to Division B so that Division B can meet its
maximum annual demand for the new portable batteries.

Note: There are 2 marks available for calculations and 3 marks available for discussion. (5 marks)
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2. March/June 2018 Q31 PGC

OF-I=ED &

v' Calculate and discuss what the minimum transfer price per unit

v For any additional adaptors supplied above the current level

v" Division B can meet its maximum annual demand

Q@ fEERE

v" Division B - maximum annual demand: 180,000

v Additional adaptors: 180,000-150,000=30,000

v No spare capacity = minimum transfer price = marginal cost + opportunity cost

v' Marginal cost = $7 ($4 + $3)
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2. March/June 2018 Q31 PGC

@ FRRAB R

v Opportunity cost = Lost contribution = $15 — $3 — $4 — $1 = $7 per unit
v The transfer price for the additional 30,000 units would need to be $14
@ BIER:

v EHERNMFA

v REHRERSER, SEMREER

v RiBFETRN, FfENA
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2. March/June 2018 Q31 PGC

Solution:

(c) In order for Division A to supply Division B with 180,000 adaptors, it would have to reduce its
external sales from 200,000 units to 170,000. This is because it only has enough spare capacity to
supply Division B with 150,000 units at present after it has supplied adaptors to its external customers.

The minimum transfer price in situations where there is no spare capacity is marginal cost plus
opportunity cost. In this case, contribution is lost by not selling 30,000 units to the external customers.
As the marginal cost for Division A’s internal sales is $7 ($4 + $3) and the contribution per unit for
external sales is $7 per unit ($15 — $3 — $4 — $1), the transfer price for the additional 30,000 units
would need to be $14.
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3. March/June 2016 Section B Q4 Man Co

A manufacturing company, Man Co, has two divisions: Division L and Division M. Both divisions make
a single standardised product. Division L makes component L, which is supplied to both Division M
and external customers.

Division M makes product M using one unit of component L and other materials. It then sells the
completed product M to external customers. To date, Division M has always bought component L from
Division L.
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3. March/June 2016 Section B Q4 Man Co

The following information is available:

Component L Product M
$ $
Selling price 40 96
Direct materials:
Component L (40)
Other (12) (17)
Direct labour (6) (9)
Variable overheads (2) (3)
Selling and distribution costs (4) (1)
Contribution per unit before fixed costs 16 26
Annual fixed costs $500,000 $200,000
Annual external demand (units) 160,000 120,000
Capacity of plant 300,000 130,000
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3. March/June 2016 Section B Q4 Man Co

Annual fixed costs $500,000 $200,000
Annual external demand (units) 160,000 120,000
Capacity of plant 300,000 130,000

Division L charges the same price for component L to both Division M and external customers.
However, it does not incur the selling and distribution costs when transferring internally.

Division M has just been approached by a new supplier who has offered to supply it with component L
for $37 per unit. Prior to this offer, the cheapest price which Division M could have bought component

L for from outside the group was $42 per unit.

It is head office policy to let the divisions operate autonomously without interference at all.
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3. March/June 2016 Section B Q4 Man Co

Required:

(a) Calculate the incremental profit/(loss) per component for the group if Division M accepts the new
supplier’s offer and recommend how many components Division L should sell to Division M if group
profits are to be maximized. (3 marks)
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3. March/June 2016 Section B Q4 Man Co

@© FEEX:

|al#—: Calculate the incremental profit/(loss) per component for the group if Division M accepts the
new supplier’s offer

Al —: Recommend how many components...group profits are to be maximized
@ B

[Al#l—: Calculate the incremental profit/(loss) per component for the group if Division M accepts the
new supplier’s offer

v/ Component L — Capacity of plant: 300,000 units
v Total demand: (external 160,000+internal 120,000) = 280,000
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3. March/June 2016 Section B Q4 Man Co

v" Division L has enough capacity
v Cost of making $20 vs cost of buying $37
v Incremental loss: $17

] —: how many components Division L should sell to Division M if group profits are to be
maximized

v" Lost contribution = 0
v" Saved cost $17

v All 120,000 units of component L should be transferred internally
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3. March/June 2016 Section B Q4 Man Co

Solution:

(a) Maximizing group profit

Division L has enough capacity to supply both Division M and its external customers with component L.
Therefore, incremental cost of Division M buying externally is as follows:

Cost per unit of component L when bought from external supplier: $37

Cost per unit for Division L of making component L: $20.

Therefore incremental cost to group of each unit of component L being bought in by Division M rather
than transferred internally: $17 ($37 — 20).

From the group’s point of view, the most profitable course of action is therefore that all 120,000 units of
component L should be transferred internally
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4. June 2015 Section B Q2

Mobe Co manufactures electronic mobility scooters. The company is split into two divisions: the
scooter division (Division S) and the motor division (Division M). Division M supplies electronic motors
to both Division S and to external customers. The two divisions run as autonomously as possible,
subject to the group’s current policy that Division M must make internal sales first before selling
outside the group; and that Division S must always buy its motors from Division M. However, this
company policy, together with the transfer price which Division M charges Division S, is currently
under review.

Details of the two divisions are given below.

Division S

Division S’s budget for the coming year shows that 35,000 electronic motors will be needed. An
external supplier could supply these to Division S for $800 each.
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4. June 2015 Section B Q2

Division M
Division M has the capacity to produce a total of 60,000 electronic motors per year. Details of Division
M’s budget, which has just been prepared for the forthcoming year, are as follows:

Budgeted sales volume (units) 60,000
Selling price per unit for external sales of motors $850
Variable costs per unit for external sales of motors $770

The variable cost per unit for motors sold to Division S is $30 per unit lower due to cost savings on
distribution and packaging.

Maximum external demand for the motors is 30,000 units per year.
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4. June 2015 Section B Q2

Required:

Assuming that the group’s current policy could be changed, advise, using suitable calculations, the
number of motors which Division M should supply to Division S in order to maximise group profits.
Recommend the transfer price or prices at which these internal sales should take place.

Note: All relevant workings must be shown.

(10 marks)
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4. June 2015 Section B Q2

OFISE3 &
[Al#—: the number of motors...to maximize group profits

Al —: Recommend the transfer price
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4. June 2015 Section B Q2

@ AR

m—: (BE&RE March/June 2018 Q31 (b))

v’ Total capacity of Division M: 60,000

Total demand: (external 30,000 + internal 35,000) = 65,000

Shortfall: 5,000

Lost contribution from external sales: $80 ($850 — $770).

Saved cost (cost of making vs cost of buying) : $60 per unit ($800 — [$770 — $30])
Saved cost < Lost contribution = loss, Division ML 5% & I EP 5 3K

D N N N N NN

Bll: Division M’s total capacity is 60,000 units. Given that it can make external sales of 30,000
units, it can only supply 30,000 of Division S’s demand for 35,000 motors.
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4. June 2015 Section B Q2

@ RIS
Al —: Recommend the transfer price
v' Buying division: iJi€Division SBE#& = BImaximum transfer price, Bl external supplier - $800

v" Selling division: 13i€Division MEEEBIminimum transfer price, Bl marginal cost of making
these units, which is $740 per unit

v" What is best for the company as a whole: the total group profit will be the same irrespective of
where in this range the transfer price is set. It is important that divisional managers and staff
remain motivated. Given the external sales price which Division M can achieve and the fact that
Division S would have to pay $800 for each motor bought from outside the group, the transfer
price should probably be at the higher end of the range.
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4. June 2015 Section B Q2

Solution:
From the group’s perspective

For every motor sold externally, Division M generates a profit of $80 ($850 — $770) for the group as a
whole. For every motor which Division S has to buy from outside of the group, there is an incremental
cost of $60 per unit ($800 — [$770 — $30]).

Therefore, from a group perspective, as many external sales should be made as possible before any
internal sales are made.

Consequently, the group’s current policy will need to be changed. This does, however, assume that
the quality of the motors bought from outside the group is the same as the quality of the motors made
by Division M.
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4. June 2015 Section B Q2

Division M’s total capacity is 60,000 units. Given that it can make external sales of 30,000 units, it can
only supply 30,000 of Division S’s demand for 35,000 motors. These 30,000 units should be bought
from Division M since, from a group perspective, the cost of supplying these internally is $60 per unit
cheaper than buying externally. The remaining 5,000 motors required by Division S should then be
bought in from the external supplier at $800 per unit. .

In order to work out the transfer price which should be set for the internal sales of 30,000 motors, the
perspective of both divisions must be considered.

From Division M’s perspective

Division M’s only buyer for these 30,000 motors is Division S, so the lowest price it would be prepared
to charge is the marginal cost of making these units, which is $740 per unit. However, it would ideally
want to make some profit on these motors too and would consequently expect a significantly higher
price than this.
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4. June 2015 Section B Q2

From Division S’s perspective

Division S knows that it can buy as many external motors as it needs from outside the group at a
price of $800 per unit. Therefore, this will be the maximum price which it is prepared to pay.

Overall

Therefore, the transfer price should be set somewhere between $740 and $800. From the perspective
of the group, the total group profit will be the same irrespective of where in this range the transfer
price is set. However, it is important that divisional managers and staff remain motivated. Given the
external sales price which Division M can achieve and the fact that Division S would have to pay $800
for each motor bought from outside the group, the transfer price should probably be at the higher end
of the range.
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5. I3 HI5

= (PR, GHXRIE, YIERKEER

= BAWEEMRE, RtTABEHA

= BIAE—MNSE, REMHRTFEEML

= IRRIAAENE RE M spreadsheetBZFHINEE

= FAETE—EREBARARIE, REATEREIEENTE
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